
 In Exercise 9 find the steady state current in the

circuit described by the equation
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Solve for a in 750h 6006 10

subtract book from both sides of the equation
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Divide each term in

750A 10 6006 by 750 and simplify
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Replace all occurrences of a in
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Simplify the left side
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solve for b in 8 12306 30



Move all term not containing b to the

right side of the equation
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Divide each term in 12306 22 by

1230 and Simplify
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Replace all occurrences of b with Is

in each equation
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To find the steady state current we have to

find the derivative of particular Solution
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